
Sheet4

ページ 1

製品ｺｰﾄﾞ 展開図番号 部品ｺｰﾄﾞ 品名 要数
526224 035A 426224151 ﾛｰﾀ 1

526224 036 426224161 ｽﾃｰﾀ 1

526224 037 426224171 ﾌﾛﾝﾄﾌﾟﾚｰﾄ 1

526224 038A 426224182 ﾘﾔﾌﾟﾚｰﾄ 1

526224 039A 426224191 ﾘﾔﾘﾃｰﾅ 1

526224 040 137102120 8

526224 041 130802212 ﾘﾌﾄｽﾌﾟﾘﾝｸﾞ 8

526224 042 130113002 2

526224 043 131103004 1

526224 044A 131103023 1

526224 045 130302015 1

526224 046 131708075 3

526224 047 131307006 1

526224 048 130402051 ﾉﾂｸﾋﾟﾝ 1

526224 049 130104003 1

526224 050 426224200 ｶﾂﾌﾟﾘﾝｸﾞ 1

526224 051B 426224212 ﾎｲｰﾙﾊｳｼﾞﾝｸﾞ 1

526224 052 426224220 ﾊﾝｶﾞﾋﾟﾝ 1

526224 053 426224230 ｽﾍﾟｰｻ 1

526224 054 426261R50 ﾜﾂｼﾔ 1

526224 055 130113015 1

526224 056 130104010 1

526224 057 131706012 1

526224 059A 131708025 6

526224 060 426221R50 1

526224 061A 132108012 1

526224 062 137309075 ﾌﾞﾗﾝﾄﾞﾈｰﾑﾌﾟﾚｰﾄ 1

526224 064 426224550 0

526224 065 131706012 0

526224 066 131708012 0

526224 067 426224110 ﾁｴﾝﾚﾊﾞｰ 1

526224 068 426224120 ﾛｰﾗｼﾔﾌﾄ 1

526224 069 426224130 ﾘﾐﾂﾄﾛｰﾗ 1

526224 070A 426224401 ﾌﾞﾚｰｷﾋﾟｽﾄﾝ 1

526224 071 426224410 ﾌﾞﾚｰｷｶﾊﾞｰ 1

526224 072A 426224421 ﾋﾟｽﾄﾝｶﾊﾞｰ 1

526224 073 426224430 ﾌﾞﾚｰｷﾃﾞｲｽｸ 1

526224 074 130408081 ｷｰ 2

526224 075 130802213 ﾃﾞｲｽｸｽﾌﾟﾘﾝｸﾞ 6

526224 076 131103002 1

526224 077 131101004 1

526224 078 131103055 1

526224 079 131706012 2

526224 080 131706040 4

526224 081 131117033 1

526224 085 426224240 ｹｰｼﾞ 1

ﾍﾞｰﾝ(ﾍﾞｰｸ)

ﾍﾞｱﾘﾝｸﾞ  6902

Oﾘﾝｸﾞ  S-6

Oﾘﾝｸﾞ S-29

ｽﾅﾂﾌﾟﾘﾝｸﾞ S-15

ﾛﾂｶｸｱﾅﾂｷﾎﾞﾙﾄ M8X 75

ﾋﾗｻﾞｶﾞﾈ  M6 ﾐｶﾞｷﾏﾙ

ﾍﾞｱﾘﾝｸﾞ 6002

ﾍﾞｱﾘﾝｸﾞ  6915

ﾍﾞｱﾘﾝｸﾞ  6009

ﾛﾂｶｸｱﾅﾂｷﾎﾞﾙﾄ M6X12

ﾛﾂｶｸｱﾅﾂｷﾎﾞﾙﾄ  M8X 25

ﾜﾂｼﾔ (ｾﾊﾟﾚｰﾀ &ﾁｴﾝﾀﾝﾏﾂ)

ﾛﾂｶｸｱﾅﾂｷﾄﾒﾈｼﾞﾋﾗｻｷ   M8X12

ﾁｴﾝﾊﾞｽｹﾂﾄ (ﾇﾉ) 8M

ﾛﾂｶｸｱﾅﾂｷﾎﾞﾙﾄ M6X12

ﾛﾂｶｸｱﾅﾂｷﾎﾞﾙﾄ  M8X 12

Oﾘﾝｸﾞ  S-4

Oﾘﾝｸﾞ  P-6

Oﾘﾝｸﾞ S-105

ﾛﾂｶｸｱﾅﾂｷﾎﾞﾙﾄ M6X12

ﾛﾂｶｸｱﾅﾂｷﾎﾞﾙﾄ  M6X40

Oﾘﾝｸﾞ  AS568-033



Sheet4

ページ 2

526224 086 426224250 ｽﾀｷﾞﾔ 3

526224 087 426224260 ﾋﾟﾝ 3

526224 088 426224270 ｽﾗｽﾄｶﾗ 6

526224 089 426224280 ﾘﾃｰﾅ 3

526224 090 426224290 ﾋﾟﾆｵﾝ 1

526224 091 426224300 ﾎｲｰﾙ 1

526224 092B 426224312 ｷﾞﾔｹｰｽ 1

526224 093B 426224322 ﾘﾝｸﾞｷﾞﾔ 1

526224 094 426224330 3

526224 095B 426221K90 ﾛﾂｸｽｸﾘﾕ 1

526224 096A 426224352 ﾁｴﾝｶﾞｲﾄﾞ 1

526224 097A 426224363 ﾁｴﾝｾﾊﾟﾚｰﾀ 1

526224 098A 426224381 ﾌﾞﾚｰｷﾁﾕｰﾌﾞ 1

526224 100 130104003 2

526224 101 130112808 2

526224 102 130170035 6

526224 103 131103051 1

526224 103A 131117042 1

526224 104 131103055 1

526224 105 130302010 3

526224 106 130302045 1

526224 107 130302015 3

526224 108 130301032 2

526224 109 130303005 1

526224 110 131706012 4

526224 111 131708016 3

526224 112 131103036 1

526224 115 42622457B 1

526224 115A 426261S20 ｱﾂﾊﾟﾌﾂｸ 1

526224 115B 426221S30 ﾌﾂｸｾﾌﾃｲｸﾛｰ 1

526224 115C 130802258 ﾌﾂｸｽﾌﾟﾘﾝｸﾞ 1

526224 115D 131705035 1

526224 115E 134501005 1

526224 115F 426224570 1

526224 115G 133206025 2

526224 116 130802219 2

526224 117 426244610 ﾌﾟﾂｼﾕﾘﾝｸﾞ 1

526224 118 426224C80 ﾘﾐﾂﾄﾜﾂｼﾔ 2

526224 119 420620JF0 2

526224 119A 426224390 ｴﾝﾄﾞｽﾄﾂﾊﾟ 1

526224 120 426221S2F 1

526224 120A 426221S20 ﾌﾂｸ 1

526224 120B 426221S30 ﾌﾂｸｾﾌﾃｲｸﾛｰ 1

526224 120C 130802258 ﾌﾂｸｽﾌﾟﾘﾝｸﾞ 1

526224 120D 131705035 1

526224 120E 134501005 1

526224 125 130502020 8

526224 126 426221S80 ｱﾝﾀﾞﾌﾂｸﾎﾙﾀﾞ 1

ｽﾍﾟｰｻ (P)

ﾍﾞｱﾘﾝｸﾞ 6002

ﾍﾞｱﾘﾝｸﾞ  6808

ﾆ-ﾄﾞﾙﾍﾞｱﾘﾝｸﾞ  KT-121812

Oﾘﾝｸﾞ  S-85

Oﾘﾝｸﾞ AS568-042

Oﾘﾝｸﾞ S-105

ｽﾅﾂﾌﾟﾘﾝｸﾞ  S-10

ｽﾅﾂﾌﾟﾘﾝｸﾞ  S-45

ｽﾅﾂﾌﾟﾘﾝｸﾞ S-15

ｽﾅﾂﾌﾟﾘﾝｸﾞ H-32

ｽﾅﾂﾌﾟﾘﾝｸﾞ  E-5

ﾛﾂｶｸｱﾅﾂｷﾎﾞﾙﾄ M6X12

ﾛﾂｶｸｱﾅﾂｷﾎﾞﾙﾄ M8X 16

Oﾘﾝｸﾞ S-45

ｱﾂﾊﾟｰﾌﾂｸ CP

ﾛﾂｶｸｱﾅﾂｷﾎﾞﾙﾄ  M5X35

Uﾅﾂﾄ  M5

ﾌﾂｸｴﾝﾄﾞﾋﾟｰｽ (ｸﾐ)

ﾏﾙﾋﾞﾖｳ 6X25

ｽﾌﾟﾘﾝｸﾞ 30X55X5

ﾁｴﾝﾀﾞｳﾝｽﾄﾂﾊﾟ-

ﾌﾂｸ CP

ﾛﾂｶｸｱﾅﾂｷﾎﾞﾙﾄ  M5X35

Uﾅﾂﾄ  M5

ｽﾁ-ﾙﾎﾞ-ﾙ   5/16



Sheet4

ページ 3

526224 127 420846PY0 ｽｲﾍﾞﾙﾌﾂｸﾌﾟﾗｸﾞ 1

526224 128 426224760 ｽﾘｰﾌﾞ 1

526224 129 426221T20 ｽﾘｰﾌﾞﾋﾟﾝ 1

526224 130 130802259 ﾛﾂｸﾘﾝｸﾞ 1

526224 131 138063035 0

526224 132 426224450 ﾘﾐﾂﾄﾛﾂｸ 2

526224 133 136206002 ｼﾖﾂｸｱﾌﾞｿｰﾊﾞ 2

526224 134 137309076 ﾈｰﾑﾌﾟﾚｰﾄ 1

526224 136 131705025 2

526224 136A 426224680 ｴﾝﾄﾞﾎﾞﾙﾄ 1

526224 138 134501005 2

526224 138A 134501006 1

526224 140 426224461 ﾘﾐﾂﾄｼﾔﾌﾄ 1

526224 141 130802217 2

526224 142 426224472 ｱﾝﾀﾞｶﾊﾞｰ 1

526224 148 130302010 1

526224 149 426224C30 ﾒｲﾝﾌﾞﾂｼﾕ 1

526224 151 132805010 4

526224 152 132506012 1

526224 156 130790012 1

526224 157 426325750 ﾜﾂｼﾔ 1

526224 159 134703060 ｲﾝﾚﾂﾄﾌﾞﾂｼﾝｸﾞ 1

526224 160A 426224520 ｺﾝﾄﾛｰﾙﾊﾝﾄﾞﾙ 1

526224 160B 130501004 2

526224 160C 130802255 ﾍﾟﾝﾀﾞﾝﾄﾊﾞﾙﾌﾞｽﾌﾟﾘﾝｸﾞ 2

526224 160D 426221H30 ﾍﾟﾝﾀﾞﾝﾄﾊﾞﾙﾌﾞｼｰﾄ 2

526224 160E 131103008 4

526224 160F 426224480 ｺﾝﾄﾛｰﾙｽﾌﾟｰﾙ 2

526224 160G 426224530 ｺﾝﾄﾛｰﾙﾌﾞﾂｼﾕ 2

526224 160H 426221H60 ﾌﾟﾂｼﾕﾛﾂﾄﾞ 2

526224 160J 136602023 1

526224 160K 136602024 1

526224 160L 130402006 ﾚﾊﾞｰﾋﾟﾝ 1

526224 160M 426221H90 ﾊﾞﾂﾌｱｽﾘｰﾌﾞ 2

526224 160N 130305007 2

526224 160P 130802256 ﾊﾞﾂﾌｱｽﾌﾟﾘﾝｸﾞ 2

526224 160Q 426221J20 ﾊﾞﾂﾌｱﾛﾂﾄﾞ 2

526224 160R 426221J30 ｱｼﾞﾔｽﾄｽｸﾘﾕ 2

526224 160S 426221J40 ﾊﾝﾄﾞﾙｶﾊﾞｰ 1

526224 160T 132805010 4

526224 160U 132105005 2

526224 165 135000004 0

526224 165A 135000500 ﾎｰｽﾆｯﾌﾟﾙ 1

526224 166 134800004 1

526224 167 135600004 1

526224 168 136503004 1

526224 201 426224013 ﾒｲﾝｽﾌﾟｰﾙ 1

526224 202 426224021 ﾌﾞﾚｰｷｽﾌﾟｰﾙ 1

ﾁｴﾝ     6.3MM X  3.5M (ISO)

ﾛﾂｶｸｱﾅﾂｷﾎﾞﾙﾄ M5X25

Uﾅﾂﾄ  M5

Uﾅﾂﾄ  M6

ｽﾌﾟﾘﾝｸﾞ 19.5X25X2.6

ｽﾅﾂﾌﾟﾘﾝｸﾞ  S-10

ﾛﾂｶｸｱﾅﾂｷｻﾗｺﾈｼﾞ  M5 X 10

ｽﾘﾜﾘﾂｷﾋﾗｺﾈｼﾞ  M6 X 12

ｽﾅﾂﾌﾟﾋﾟﾝ 12

ｽﾁ-ﾙﾎﾞ-ﾙ  M4

Oﾘﾝｸﾞ S-10

ﾊﾞﾙﾌﾞﾚﾊﾞｰ  U

ﾊﾞﾙﾌﾞﾚﾊﾞｰ  D

ｻｰｸﾘﾂﾌﾟ  AR-  7 (SB-  7)

ﾛﾂｶｸｱﾅﾂｷｻﾗｺﾈｼﾞ  M5 X 10

ﾛﾂｶｸｱﾅﾂｷﾄﾒﾈｼﾞﾋﾗｻｷ   M5X5

1/2ﾎ-ｽﾕﾆｵﾝ ﾎ-ｽﾆﾂﾌﾟﾙ

1/2ﾎ-ｽﾕﾆｵﾝ ﾎ-ｽｽﾃ-ﾑ

1/2ﾎ-ｽﾕﾆｵﾝ ﾎ-ｽﾅﾂﾄ

ﾎﾟﾘｾﾝ   1/2



Sheet4

ページ 4

526224 203 426224C20 ｽﾌﾟｰﾙｼﾘﾝﾀﾞ 2

526224 204 426224041 ﾌﾞﾚｰｷﾘﾃｰﾅ 1

526224 205 426224051 ﾌﾞﾚｰｷﾅﾂﾄ 1

526224 206 426224063 ﾊﾞﾙﾌﾞﾎﾞﾃﾞｰ 1

526224 207 426224070 ﾄﾂﾌﾟｶﾊﾞｰ 1

526224 208 426224083 1

526224 209 426224093 1

526224 210 426224101 ﾘﾐﾂﾄｶﾞｲﾄﾞ 1

526224 211 426224C40 ﾌﾞﾚｰｷﾌﾞﾂｼﾕ 1

526224 212 426224C50 ﾘﾐﾂﾄﾌﾞﾂｼﾕ 1

526224 213 426224C60 ｽﾌﾟｰﾙﾋﾟｽﾄﾝ 2

526224 214 426224C70 ｽﾌﾟﾘﾝｸﾞｼｰﾄ 2

526224 215 426224140 ﾘﾐﾂﾄﾚﾊﾞｰ 1

526224 216 130802216 1

526224 217 136102164 2

526224 218 136102161 ﾊﾞﾙﾌﾞﾊﾟﾂｷﾝ 1

526224 219 136102162 ﾄﾂﾌﾟﾊﾟﾂｷﾝ 1

526224 220 136102163 ｱﾝﾀﾞﾊﾟﾂｷﾝ 1

526224 221 137402030 ｴｷｿﾞｰｽﾄｻｲﾚﾝｻ 1

526224 222 137402031 ﾅｲﾛﾝｻｲﾚﾝｻ 1

526224 223 130301025 1

526224 224 130301058 1

526224 225 131706012 2

526224 226 131706025 4

526224 227 131706040 3

526224 228 131706060 3

526224 229 132405008 2

526224 230 132306035 1

526224 231 134902003 3

526224 232 134403006 1

526224 233 134501008 1

526224 234 130406005 2

526224 235 130604010 2

526224 236 131103004 2

526224 237 131103021 2

526224 238 131103022 7

526224 239 131103024 2

526224 240 131103027 2

526224 241 136803032 1

526224 300 420218VB0 ｽﾛﾂﾄﾙﾊﾞﾙﾌﾞ 2

526224 301 420223VR0 ﾊﾞﾙﾌﾞﾎﾞﾃﾞｰ 1

526224 302 420218VF0 ﾌﾞﾂｼﾕ 2

526224 303 420223W40 1

526224 304 420223W30 1

526224 305 130402052 ﾚﾊﾞｰﾋﾟﾝ 1

526224 306 130802220 2

526224 307 420223W50 ﾌﾛﾝﾄｹｰｽ 1

526224 308 420223W60 ﾘﾔｹｰｽ 1

ｻｲﾄﾞｶﾊﾞｰ(L)

ｻｲﾄﾞｶﾊﾞｰ(R)

ｽﾌﾟﾘﾝｸﾞ 15X59X2.4

ｻｲﾄﾞﾊﾟﾂｷﾝ (N)

ｽﾅﾂﾌﾟﾘﾝｸﾞ  H-25

ｽﾅﾂﾌﾟﾘﾝｸﾞ  H-58

ﾛﾂｶｸｱﾅﾂｷﾎﾞﾙﾄ M6X12

ﾛﾂｶｸｱﾅﾂｷﾎﾞﾙﾄ   M6X25

ﾛﾂｶｸｱﾅﾂｷﾎﾞﾙﾄ  M6X40

ﾛﾂｶｸｱﾅﾂｷﾎﾞﾙﾄ M6X60

ｼﾞﾕｳｼﾞｱﾅﾂｷﾅﾍﾞｺﾈｼﾞ M5X8

ﾛﾂｶｸｱﾅﾂｷﾄﾒﾈｼﾞﾄｶﾞﾘｻｷ M6X35

ﾛﾂｶｸｱﾅﾂｷﾌﾟﾗｸﾞ PT1/8 1ｼﾕ

ﾛﾂｶｸﾅﾂﾄ M6  3ｼﾕ(ﾒﾂｷ)

Uﾅﾂﾄ M8

ﾍｲｺｰﾋﾟﾝ A  4  X 10 (H7)

ｽﾌﾟﾘﾝｸﾞﾋﾟﾝ    4X10

Oﾘﾝｸﾞ  S-6

0ﾘﾝｸﾞ  S-26

Oﾘﾝｸﾞ  S-28

Oﾘﾝｸﾞ S-30

Oﾘﾝｸﾞ S-34

1/2 ﾈｯﾄｽｸﾘｰﾝ

ﾚﾊﾞｰ D

ﾚﾊﾞｰ U

ｽﾌﾟﾘﾝｸﾞ 6X14X0.6



Sheet4

ページ 5

526224 309 136608254 ﾌﾞｰﾂ 1

526224 310 131705010 1

526224 311 132405014 3

526224 312 132904220 6

526224 313 132105005 4

526224 314 134902003 1

526224 315 131307005 1

526224 316 131109001 2

526224 317 131103008 2

526224 318 131103009 2

526224 330 135106301 1

526224 331 426230E80 2

526224 332 137501012 3

526224 336 137309290 1

526224 337 137502034 5

526224 338 137502036 2

526224 339 137502037 2

526224 360 137240926 3

526224 361 426230F1B 1

526224 363 135106303 3

526224 364 137501012 3

526224 365 135111022 1

526224 715 426261S20 ｱﾂﾊﾟﾌﾂｸ 1

526224 716 426221S30 ﾌﾂｸｾﾌﾃｲｸﾛｰ 1

526224 717 130802258 ﾌﾂｸｽﾌﾟﾘﾝｸﾞ 1

526224 718 131705035 1

526224 719 134501005 1

526224 720 426224570 1

526224 721 133206025 2

526224 722 426221S20 ﾌﾂｸ 1

526224 801 137502044 1

526224 802 426224D7D 1

526224 803 426224C4B 1

526224 804 426224C3B 1

526224 815 42622457B 1

526224 820 426221S2C 1

526224 821 42622477C 1

526224 830 426224G4D 1

526224 860 420223VRD 1

526224 864 426224WA0 1

526224 865 42622470C 1

526224 866 426224XBC 1

526224 867 426224XCC 1

526224 870 42622455C 1

526224 871 426224WAC 1

526224 872 426224YDC 1

526224 873 426224YEC 1

ﾛﾂｶｸｱﾅﾂｷﾎﾞﾙﾄ M5X10

ｼﾞﾕｳｼﾞｱﾅﾂｷﾅﾍﾞｺﾈｼﾞ  M5 X 14(ｸﾛ)

Pﾀｲﾄﾈｼﾞ 4X20 (ｸﾛ)

ﾛﾂｶｸｱﾅﾂｷﾄﾒﾈｼﾞﾋﾗｻｷ   M5X5

ﾛﾂｶｸｱﾅﾂｷﾌﾟﾗｸﾞ PT1/8 1ｼﾕ

ﾋﾗｻﾞｶﾞﾈﾐｶﾞｷﾏﾙ M5

Oﾘﾝｸﾞ  S-3   (HS90ﾟ)

Oﾘﾝｸﾞ S-10

Oﾘﾝｸﾞ  S-11.2

ﾎｰｽﾆﾂﾌﾟﾙ H-1 PT1/8-7

ﾎｰｽﾆﾂﾌﾟﾙ (S)

ﾎｰｽﾊﾞﾝﾄﾞ (5.6-16)

ﾌﾞﾗﾝﾄﾞﾏｰｸ(TOKU)

ｹﾂｿｸﾊﾞﾝﾄﾞ 100 (ｱｶ)

ｹﾂｿｸﾊﾞﾝﾄﾞ 100 (ｼﾛ)

ｹﾂｿｸﾊﾞﾝﾄﾞ 100 (ｸﾛ)

ｳﾚﾀﾝﾎｰｽ HR-6R 2.1M

ﾍﾟﾝﾀﾞﾝﾄﾜｲﾔ2M CP

ﾎｰｽｼﾞﾖｲﾝﾄ GHJL-0107

ﾎｰｽﾊﾞﾝﾄﾞ (5.6-16)

ｺﾈｸﾀ EBG2022BK

ﾛﾂｶｸｱﾅﾂｷﾎﾞﾙﾄ  M5X35

Uﾅﾂﾄ  M5

ﾌﾂｸｴﾝﾄﾞﾋﾟｰｽ (ｸﾐ)

ﾏﾙﾋﾞﾖｳ 6X25

ｽﾃﾝﾚｽﾋﾞﾆｰﾙﾋﾌｸﾜｲﾔﾛｰﾌﾟ 
2MMX100M(7X7)

ﾊﾞﾙﾌﾞﾘﾆﾕｱﾙｷﾂﾄ(ｸﾐ)

ﾌﾞﾚｰｷﾌﾞﾂｼﾕ CP(ｸﾐ)

ﾒｲﾝﾌﾞﾂｼﾕ CP(ｸﾐ)

ｱﾂﾊﾟｰﾌﾂｸ CP

ｱﾝﾀﾞｰﾌﾂｸ ASS

ｱﾝﾀﾞﾌﾂｸ ASSY (0.25T)

ﾍﾟﾝﾀﾞﾝﾄﾊﾞﾙﾌﾞﾘﾆﾕｱﾙｷﾂﾄ(ｸﾐ)

ﾍﾟﾝﾀﾞﾝﾄﾊﾞﾙﾌﾞ ASSY

ﾁｴﾝﾊﾞｽｹﾂﾄ (ﾇﾉ) 15M

ﾎ-ｽﾆﾂﾌﾟﾙ CP

ﾁｴﾝﾊﾞｽｹﾂﾄ CP (ﾃﾂ) 10MﾊﾊﾞﾋﾛX

ﾁｴﾝﾊﾞｽｹﾂﾄ CP (ﾃﾂ) 14MﾊﾊﾞﾋﾛX

ﾁｴﾝﾊﾞｽｹﾂﾄ CP (ﾇﾉ）8M

ﾁｴﾝﾊﾞｽｹﾂﾄ CP (ﾇﾉ) 15M

ﾁｴﾝﾊﾞｽｹﾂﾄ CP (ﾃﾂ) 16M ﾀﾃﾅｶﾞ

ﾁｴﾝﾊﾞｽｹﾂﾄ CP (ﾃﾂ) 18M ﾀﾃﾅｶﾞ



Sheet4

ページ 6

526224 874 426224YFC 1

526224 875 426224ZGC 1

526224 876 426224ZHC 1

526224 877 426224ZJC 1

526224 878 426224XGC 1

526224 879 426224YAC 1

526224 880 426224YBC 1

526224 881 426224YCC 1

526224 882 426224YGC 1

526224 883 426224YHC 1

526224 884 426224YIC 1

526224 885 426224YJC 1

526224 886 426224ZBC 1

526224 887 426224ZCC 1

526224 888 426224ZDC 1

526224 889 426224ZEC 1

526224 890 426224D5D ﾁﾕｰﾝﾅﾂﾌﾟｷﾂﾄ 1

526224 891 426221S3C ﾌﾂｸｾﾌﾃｲｸﾛｰｷﾂﾄ 1

526224 892 426224ZFC 1

526224 893 426224ZIC 1

526224 894 426224XHC 1

526224 895 426224XIC 1

526224 896 426224XJC 1

526224 897 426224XDC 1

526224 898 426224XEC 1

526224 899 426224XFC 1

526224 901 426224011 ﾒｲﾝｽﾌﾟｰﾙ 1

526224 901A 426224012 ﾒｲﾝｽﾌﾟｰﾙ 1

526224 902 426224020 ﾌﾞﾚｰｷｽﾌﾟｰﾙ 1

526224 903 426224030 ｽﾌﾟｰﾙﾘﾃｰﾅ 3

526224 904 426224040 ﾌﾞﾚｰｷﾘﾃｰﾅ 1

526224 905 426224050 ﾌﾞﾚｰｷﾅﾂﾄ 1

526224 906 426224061 ﾊﾞﾙﾌﾞﾎﾞﾃﾞｰ 1

526224 906A 426224062 ﾊﾞﾙﾌﾞﾎﾞﾃﾞｰ 1

526224 908 426224081 1

526224 908A 426224082 1

526224 909 426224091 1

526224 909A 426224092 1

526224 910 426224100 ﾘﾐﾂﾄｶﾞｲﾄﾞ 1

526224 914 136102160 ｻｲﾄﾞﾊﾟﾂｷﾝ 2

526224 916 130802210 ﾌﾞﾚｰｷｽﾌﾟﾘﾝｸﾞ 2

526224 917 130802211 ﾘﾐﾂﾄｽﾌﾟﾘﾝｸﾞ 1

526224 921 130301019 4

526224 924 131706035 3

526224 928 426221S90 ｽﾘｰﾌﾞ 1

526224 929 132306025 1

ﾁｴﾝﾊﾞｽｹﾂﾄ CP (ﾃﾂ) 20M ﾀﾃﾅｶﾞ

ﾁｴﾝﾊﾞｽｹﾂﾄ CP (ﾃﾂ) 24M ﾊﾊﾞﾋﾛ

ﾁｴﾝﾊﾞｽｹﾂﾄ CP (ﾃﾂ) 30M ﾊﾊﾞﾋﾛ

ﾁｴﾝﾊﾞｽｹﾂﾄ CP (ﾃﾂ) 40M ﾊﾊﾞﾋﾛ

ﾁｴﾝﾊﾞｽｹﾂﾄ CP (ﾃﾂ) 24M ﾊﾊﾞﾋﾛX

ﾁｴﾝﾊﾞｽｹﾂﾄ CP (ﾃﾂ) 6M ﾀﾃﾅｶﾞ

ﾁｴﾝﾊﾞｽｹﾂﾄ CP (ﾃﾂ) 10M ﾀﾃﾅｶﾞ

ﾁｴﾝﾊﾞｽｹﾂﾄ CP (ﾃﾂ) 14M ﾀﾃﾅｶﾞ

ﾁｴﾝﾊﾞｽｹﾂﾄ CP (ﾃﾂ) 24M ﾀﾃﾅｶﾞ

ﾁｴﾝﾊﾞｽｹﾂﾄ CP (ﾃﾂ) 30M ﾀﾃﾅｶﾞ

ﾁｴﾝﾊﾞｽｹﾂﾄ CP (ﾃﾂ) 34M ﾀﾃﾅｶﾞ

ﾁｴﾝﾊﾞｽｹﾂﾄ CP (ﾃﾂ) 40M ﾀﾃﾅｶﾞ

ﾁｴﾝﾊﾞｽｹﾂﾄ CP (ﾃﾂ) 10M ﾊﾊﾞﾋﾛ

ﾁｴﾝﾊﾞｽｹﾂﾄ CP (ﾃﾂ) 14M ﾊﾊﾞﾋﾛ

ﾁｴﾝﾊﾞｽｹﾂﾄ CP (ﾃﾂ) 16M ﾊﾊﾞﾋﾛ

ﾁｴﾝﾊﾞｽｹﾂﾄ CP (ﾃﾂ) 18M ﾊﾊﾞﾋﾛ

ﾁｴﾝﾊﾞｽｹﾂﾄ CP (ﾃﾂ) 20M ﾊﾊﾞﾋﾛ

ﾁｴﾝﾊﾞｽｹﾂﾄ CP (ﾃﾂ) 34M ﾊﾊﾞﾋﾛ

ﾁｴﾝﾊﾞｽｹﾂﾄ CP (ﾃﾂ) 30MﾊﾊﾞﾋﾛX

ﾁｴﾝﾊﾞｽｹﾂﾄ CP (ﾃﾂ) 34MﾊﾊﾞﾋﾛX

ﾁｴﾝﾊﾞｽｹﾂﾄ CP (ﾃﾂ) 40MﾊﾊﾞﾋﾛX

ﾁｴﾝﾊﾞｽｹﾂﾄ CP (ﾃﾂ) 16MﾊﾊﾞﾋﾛX

ﾁｴﾝﾊﾞｽｹﾂﾄ CP (ﾃﾂ) 18MﾊﾊﾞﾋﾛX

ﾁｴﾝﾊﾞｽｹﾂﾄ CP (ﾃﾂ) 20MﾊﾊﾞﾋﾛX

ｻｲﾄﾞｶﾊﾞｰ(ﾋﾀﾞﾘ)

ｻｲﾄﾞｶﾊﾞｰ(ﾋﾀﾞﾘ)

ｻｲﾄﾞｶﾊﾞｰ(ﾐｷﾞ)

ｻｲﾄﾞｶﾊﾞｰ(ﾐｷﾞ)

ｽﾅﾂﾌﾟﾘﾝｸﾞ H-19

ﾛﾂｶｸｱﾅﾂｷﾎﾞﾙﾄ M6X35

ﾛﾂｶｸｱﾅﾂｷﾄﾒﾈｼﾞﾄｶﾞﾘｻｷ M6X25



Sheet4

ページ 7

526224 929A 132306028 1

526224 933 130821418 1

526224 935 426224150 ﾛｰﾀ 1

526224 938 426224181 ﾘﾔﾌﾟﾚｰﾄ 1

526224 939 426224190 ﾘﾔﾘﾃｰﾅ 1

526224 940 426224460 ﾘﾐﾂﾄｼﾔﾌﾄ 1

526224 942 426224470 ｱﾝﾀﾞｶﾊﾞｰ 1

526224 944 131103020 1

526224 949 130302012 2

526224 950 137102020 ﾍﾞｰﾝ 8

526224 951 426224210 ﾎｲｰﾙﾊｳｼﾞﾝｸﾞ 1

526224 951A 426224211 ﾎｲｰﾙﾊｳｼﾞﾝｸﾞ 1

526224 952 426224471 ｱﾝﾀﾞｶﾊﾞ 1

526224 954 426221E20 ﾎｰｽﾆﾂﾌﾟﾙ 6

526224 955 136102094 ﾊﾟﾂｷﾝ 2

526224 959 131708016 1

526224 961 132106012 1

526224 970 42622470B 1

526224 972 426224420 ﾋﾟｽﾄﾝｶﾊﾞｰ 1

526224 973 426224D6D ﾊﾞﾙﾌﾞﾘﾆﾕｱﾙｷﾂﾄ 1

526224 974 137240020 1

526224 975 137285010 3

526224 976 42622452D 1

526224 992 426224310 ｷﾞﾔｹｰｽ 1

526224 992A 426224311 ｷﾞﾔｹｰｽ 1

526224 993 426224320 ﾘﾝｸﾞｷﾞﾔ 1

526224 993A 426224321 ﾘﾝｸﾞｷﾞﾔ 1

526224 995 426224340 ﾄﾞｳｴﾙﾋﾟﾝ 1

526224 995A 426224341 ﾄﾞｳｴﾙﾋﾟﾝ 1

526224 996 426224351 ﾁｴﾝｶﾞｲﾄﾞ 1

526224 997 426224362 ﾁｴﾝｾﾊﾟﾚｰﾀ 1

526224 998 426224380 ﾌﾞﾚｰｷﾁﾕｰﾌﾞ 1

ﾛﾂｶｸｱﾅﾂｷﾄﾒﾈｼﾞﾄｶﾞﾘｻｷ M6X28

ｽﾌﾟﾘﾝｸﾞ  14 X 27.5 X  1.8

Oﾘﾝｸﾞ S-25

ｽﾅﾂﾌﾟﾘﾝｸﾞ  S-12

ﾛﾂｶｸｱﾅﾂｷﾎﾞﾙﾄ M8X 16

ﾛﾂｶｸｱﾅﾂｷﾄﾒﾈｼﾞﾋﾗｻｷ M6X12

ﾎｰｽﾆﾂﾌﾟﾙ(ｽｸﾘｰﾝﾂｷ) CP

ﾍﾟﾝﾀﾞﾝﾄﾎ-ｽ   2.0M

ﾁﾕｰﾌﾞﾌｲﾂﾃｲﾝｸﾞ PL6-01

ﾍﾟﾝﾀﾞﾝﾄﾊﾝﾄﾞﾙCP


	Sheet4
	Sheet1

